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Notel: the 77 obligates a man to pay 017 (50 5pw=200 1) if he raped or seduced a single 75112 7172, n™11s of the opinion that the vip only applies if she
is a 77¥3, not a v, therefore he exempts in the case of an 1721578 who is considered a 1107 at the time, even if she is 12+
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I 7 mwn: status of oo™o
a YW 'V's confusion about status of ©70 - do they perform n¥'%n and is it performed on their behalf or not
i y™’ssolution: DR "D (i.e. R3T M1¥9) does perform, because he had a moment of mIw3; not so NN V10
1 ®vnajaywvin 'v's testimony supporting »™’s approach
2 Difficulty: " equates 1R 7270 to mn»13 *27n, none of whom perform n¥’om o
3 Answerl: the n2 namw is a N7 (" must hold like sov 1 [o™1 Ynp ~=5np])
(a) Note: y™ would also allow o2 (as per testimony of 12”27), he only said 50 in response to ywin> 3
4 Challenge: (2:%’ mn2’) knaon rules that T8 V"0 (and others) perform 12> but then divorce because of v. 1
—the issue is Ynpa nr*a >the D2 NI is a born MYRIWY
Answer2: he was wounded after nn»a
Challenge: even in such a case, the WY (e.g. "'WR MNR) trumps the 01277 NVY
Answer3: follows version of ™ that he only equated 98w 5w PIRY to n72 (=911N), not 173 NKRY (e.g. RIT PIXA)
Challenge: he can’t fulfill v.2 —
(a) Block: if so, every (most) women are widowed from n>0>1v, since at their last moment they weren’t
healthy enough to be 11
(i) (challenge to 8”1in our mywp: having had a “fertile” time isn’t good enough)
(if) (answer: the normal infertility at the end of life is just waning power, not ©v10)
ii ~ ®"’s solution: NN V"1V does perform, because he might be healed; not so oTX V™1
1 definition of nnn v"1V: he was never fit; as seen by the impotency of his urinal flow
(a) cause: his mother baked bread at noon (too hot) and drank strong mead during pregnancy
(b) we aren’t concerned that he may have healed in the meanwhile, since he started out impotent and is
still impotent.
(i) Challenge: ruling that we check a 7121 for the on of blindness 3 times within first 80 days
(if) Answer: for one organ, we consider that it may have healed; not so the whole body
2 Challenge: X" ruled that men are considered nnn ©1o at 20, women at 18 — and they do not perform nx5n
(a) Answerl: 8" changed his mind from that ruling; his final ruling is the one in our nwn (8N 1 support)
(b) Answer2: that ruling is only in re pwny: at what age are boys and girls who didn’t show pan’v liable
(i) Tangential discussion: status of someone who violates law between ages of majority (12/13) and 18
before bringing nmo and then brings late nnnvo:
1. 127 retroactive 1o and 2»n
2. YRnw: was jop at that point and 110a
3. challenge (to 27): mn%»R should receive vip for »nm vnR even according to N — since she is
judged retroactively to have been n%111 (see notel)
4. answer: she has no m1 — goes straight from nmvp to M (supporting xn»2)
(if) nar " we withhold all actions re: m"19»”X1 v"10 (and 8-month baby) until they are 20
1. question: 8-month babies don’t live
2. answer: if his development was complete >he was a 7-month baby with delayed delivery
a. support: 11 validated a baby born 12 months after a husband left town — delayed
b.  Support: 3"aw1 (in addition to »27) agrees to principle of delayed delivery
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iii Rm»a:signs of NN%»RY v (who didn’t bring o [MAYW 'nw] by age of 20)
1 10
(a) no facial hair
(b) soft hair
(c) high voice so that it is indistinguishable from a woman'’s voice (x"av")
(d) skin is hairless
(e) various deficiencies in his urine and/or seminal emission (various ©Rin)
2 noR:
(a) no breasts
(b) intercourse is painful
(c) male-shaped hips (3"av")
(d) deep voice, indistinguishable from man’s (X"2w1 — compare his ruling on v*1v above)
3  application:
(a) if they brought min’o (M yw 'nv), they must have all n"n15»R/0"0 110 to be judged thus
(b) if they didn’t have manro:
(i) =1 ’1: must show all deficiencies to be considered nm%»r/vo
(if) jamv "1: any one of the deficiencies establishes status as nmb>»xr/oM0
(c) story about jnan1 "1 — inconclusive, since he had some (faint) beard hair
I ’n mwn: 115”8 010 (0710 under discussion here is NN ©MY, parallel to PNY»R [D'NY 17172] — follows Y™
a  (Mn) 1o does not perform nN¥’Ym 1
i If a1 performed n¥Yn, doesn’t invalidate the woman (doesn’t count)
ii  If a 10 performs D11, it invalidates her as a n%10a nx’a (Mar noa)
1  Also true if she has n&a2 with an outsider (110 1)
a YR does not perform nyom o
i if the brothers gave her n¥9n, it doesn’t invalidate her from n1n> (doesn’t count)
1 ~=nm "1 who maintains she is invalid for N1 in any case as she is a N
ii  if the brothers performed ma» on her, it invalidates her as miar nyya
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